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SOme AppArAtuS moves ra
outward along har BE, at equal
speeds of ¥ relative to the bar. Bar
EE, meanwhile, rotates with angular
velocity of oy about the axis CC,
which is fixed to the airplane. The
airplane is moving with a constant
velocity > and a has a roll about its
centerline of o rad/sec. The bar is
ata fixed distance / from the
centerline of the airplane. If each
particle has mass of m, what is the
total kinetic energy of the particles
with respect to ground when they
are at a distance d from CC?





